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Nome: Data: Punteggio:
1,37 % = 1370 4,753 x =47.53
5,641 x = 5641 6,042 x = 604.2
3,724 x =372.4 10, 454 % = 104.54
5,595 x = 5595 3,379 % = 3379
1,113 x = 1113 5,513 % = 5513
1,786 x =17.86 1,362 x = 13.62
10, 863 x = 1086.3 6,44 x = 644
8,197 x = 819.7 2,483 x = 2483
10, 117 % =1011.7 6, 728 % = 6728
5,031 x = 503.1 3,416 x =34.16
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é ‘% j@ Moltiplicare per potenze di dieci ( numero mancante
' )

Nome: Data: Punteggio:
1,37 x 1000 = 1370 4,753 x 10 = 47.53
5,641 x 1000 = 5641 6,042 x 100 = 604.2
3,724 x 100 = 372.4 10,454 x 10 = 104.54
5,595 x 1000 = 5595 3,379 x 1000 = 3379
1,113 x 1000 = 1113 5,513 x 1000 = 5513
1,786 % 10 = 17.86 1,362 x 10 = 13.62
10, 863 x 100 = 1086.3 6,44 x 100 = 644
8,197 x 100 = 819.7 2,483 x 1000 = 2483
10, 117 x 100 = 1011.7 6,728 x 1000 = 6728
5,031 x 100 = 503.1 3,416 x 10 = 34.16

www.snowmath.com


https://www.snowmath.com

